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2A:

B 22 sAFY 2
el 2EEY B8 A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hopts SFus Z28 29 45,000 40,500 4,500
308 XXM SOIA 45,000 40,500 4,500
01 XN B2 LS 45,000 40,500 4,500
OF0Pt= &Zu=s T2 29 45,000
HoPl=s BASE Ws N2 23,000 23,000
308 AXIHSOIA 23,000 23,000
01 MAHHBSEEXS 23,000 23,000
OH0Pte BASE W=s 23,000
g JI=EFUsE &4 2,200,000 7,950,000 A5,750,000
Jl 500,000
= 1,700,000
401 Al HIZL 201 2,200,000 7,950,000 /5,750,000
Il 500,000
== 1,700,000
01 Al&HI 2,180,000 7,950,000 A5,770,000
sH JI=eZusdE &4 2,180,000
Jl 500,000
[ 1,680,000
03 AIESTHYI 20,000 0 20,000
O8Y JI=&Zusd &g 20,000
BREEHUE PR =M 10,800 0 10,800
201 =3 10,800 10,800
01 At22t2ltl 10,800 10,800
Oggdgslus g2 =d 10,800
JlZ=Hst RS 5,558,800 3,366,774 2,192,026
Il 1,567,000
= 3,991,800
JI=Hs s € S 2,523,800 2,021,774 502,026
Jl 1,067,000
= 1,456,800
BASYIIEN (X 20t 24 468,000 411,424 56,576
Il 360,000
s 108,000
308 AXIMSOIA 468,000 411,424 56,576
Jl 360,000
[ 108,000
01 HAHHBAEES 468,000 411,424 56,576
OSHASYHHELIEM (U 20 22 468,000
) 360,000
= 108,000
BASEEIEN (NS 201 29 72,000 59,000 13,000
7l 72,000
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A BASEIM
M J|Hs HEZ
thel: EAsSE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 110,000 110,000
02 2B YA HE L 110,000 110,000
OXEHItser s 2tak K13 110,000
AoEd 25 11,190,520 12,336,309 1,145,789
= 2,934,300
= 112,500
Jl 280,000
=S 7,863,720
ioetd 25 11,190,520 12,336,309 1,145,789
= 2,934,300
[ 112,500
) 280,000
< 7,863,720
MEN A MBI A XI= K A2 718,900 718,900 0
= 553,000
= 165,900
308 AtXIEHMSOIE 718,900 718,900 0
= 553,000
= 165,900
01 RSN EES 718,900 718,900 0
OMEHAMEIAXIEMHL(BMES) 718,900
= 553,000
s 165,900
O SE TioHoIE At 221,000 236,600 15,600
= 170,000
& 51,000
403 AXIEHMSA=Z0l1d 221,000 236,600 /15,600
= 170,000
= 51,000
01 AXIEHM A= 2 £ 221,000 236,600 215,600
OOtds=2 Qlet sIlol HTAIE £X
Ard 221,000
= 170,000
=S 51,000
S Ors=E X 2e/dE 29 XF 933,334 933,334 0
= 280,000
< 653,334
307 gl2to| & 933,334 933,334 0
= 280,000
= 653,334
03 YIAHHEE 22X 933,334 933,334 0
O8Y Otds= X8y 28 & 933,334
= 280,000




SN BAZRID
M gEd 25
9l XeiEd 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 653,334
Y Orlis= AX2e/dE X8 X 1,763,600 0 1,763,600
= 881,800
= 881,800
402 212 X201 & 1,763,600 0 1,763,600
= 881,800
=S 881,800
02 QI X2 AL EE (01X THE) 1,763,600 0 1,763,600
OFg OdsSES Al &XIHl X2 1,763,600
= 881,800
< 881,800
ANAYEA & NHSE Otdd=E 252 4,000 8,100 24,100
307 212+01™ 4,000 8,100 A4,100
02 QB HANEEX 4,000 8,100 24,100
OOMMME 2583 QIZHEH X 4,000
OrliES=E 2SAME XA 54,900 54,900 0
308 XXM SOIA 54,900 54,900
01 RSN EES 54,900 54,900
ORMNOIES=Z elet &= Lol2d 9,000
ORdliotdsE TIHZ2ZM(OITIX) KIS Ak
o 45,900
HENH et = EIXIA 324,350 324,350 0
= 249,500
= 74,850
308 XM SOIE 324,350 324,350 0
= 249,500
= 74,850
01 RSN EES 324,350 324,350 0
OdEfH et M= XA 324,350
= 249,500
s 74,850
HEf2AZXS XS & |4 90,000 90,000 0
= 90,000
308 XXM SOIA 90,000 90,000 0
= 90,000
01 HAHHBAEXS 90,000 90,000 0
OsZ s de223X4s s - 54 90,000
= 90,000
STET A2 2435 20,000 70,000 50,000
308 AHAIEMSOIE 20,000 0 20,000
18 SIS0t HAS A 20,000 0 20,000
OSEEL dejad 82 20,000




SN BAZRID
M gEd 25
el AgEd 25 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
st MEE S3AY 564,286 3,341,700 N2,777,414
= 500,000
== 64,286
403 X MSAH=0lH 564,286 3,341,700 N2,777,414
= 500,000
< 64,286
01 MXIHHA 22 564,286 3,341,700 N2,777,414
OHot = HH=R(SSEY) =2 564,286
= 500,000
= 64,286
MEjEE 20F SR =2 10,000 20,000 10,000
201 el 10,000 20,000 10,000
01 At2telt] 10,000 20,000 10,000
Odti=3 S dejatd 20F SR =8 10,000
OtZelItiAIEd olg At 273,000 273,000 0
= 210,000
< 63,000
308 AtAIEHMSOIE 273,000 273,000 0
= 210,000
= 63,000
01 HAHHBSEXRS 273,000 273,000 0
OOFHSUEHX AMIZIHF X HAK Xeldl 273,000
= 210,000
= 63,000
eDls Dlek got ofZ 146,250 0 146,250
= 112,500
< 33,750
403 MR HHMSAHE01H 146,250 0 146,250
= 112,500
< 33,7850
01 A= 2L 146,250 0 146,250
OBJI¢E BEXEX 2= 146,250
[ 112,500
= 33,750
CAMEE S 316,000 0 316,000
Jl 280,000
s 36,000
403 X SHHMSAH=01H 316,000 0 316,000
Jl 280,000
< 36,000
01 A= 2L 316,000 0 316,000
O AME=(2HE) S 316,000




SN SASEZMD
M gEd 25
el AgEd 25 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 280,000
=S 36,000
ANASHEHA 25 NFAS 9,000 7,500 1,500
307 el2to| & 9,000 7,500 1,500
02 2IZHBYAIHE & 9,000 7,500 1,500
OAtietd 2SS QU2 N 9,000
MERXIE (3EHH) MEXI2 300,000 240,000 60,000
403 AXIEHMSAH=201H 300,000 240,000 60,000
01 AXISHA=2E2 X 300,000 240,000 60,000
OMEN XIS (3EHH) HMIZ KA 300,000
NASZEN OIZAE 28 (SN ==X MEHHE AL 1,078,844 429,000 649,844
ZEAE) (DAL
403 X SHHMSAH=01H 1,078,844 429,000 649,844
01 AXISHHA =2 £ 1,078,844 429,000 649,844
O3 HEHMSAIE =4 18 At 428,844
O8N HEHMSAIE =4 26 At 650,000
NHAESZEE 0IBAIE ZH(2E85 dH3Y =4)(H 2,903,056 358,150 2,544,906
EALY)
403 AXIEHHSAH=201H 2,903,056 358,150 2,544,906
01 AR A =2 £ 2,903,056 368,150 2,544,906
O=ds dH3d x4 2,903,056
NHEZEE 0IBAIE =4(SHS dHEY SdZ 1,430,000 0 1,430,000
ZEAE) (HEALS)
403 MR SHHMSAH=01H 1,430,000 0 1,430,000
01 AXISHHA 22 £ 1,430,000 0 1,430,000
O=iHz dH8Y =SdZ 28AMY 1,430,000
dESE 24X & 2el 30,000 0 30,000
403 AXIEHMSAH=Z01d 30,000 0 30,000
01 AXISHHA=2 22X 30,000 0 30,000
O&3EY3,453 dHEHE XtHSEC 2+ 30,000
Hees(BASEIMY) 162,500 0 162,500
WRHeHXIS(EASSE 20 162,500 0 162,500
NP/ SIr= U PRS2 162,500 0 162,500
705 O~ &S 162,500 0 162,500
04 Al - SXISHE D= 0l== 01 Xtatet 162,500 0 162,500
Ofdg JI=&dusd &8 0ltae 162,500
HY2EHH(EASHEMD) 88,080 80,049 8,031
Jl2dHl(SAES M) 88,080 80,049 8,031
Jl2ZH(S$ASEI) 88,080 80,049 8,031
201 er23 | 37,800 36,700 2,100
01 At2teltl 37,800 35,700 2,100
OASEdd g4 37,800
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